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101|R#A7 L 245 14 231 Kg |B) 2,160 648|7E & 4,104 864
102|357 L 1,886 1,886 Kg BIE 1,544 555
111|&EEF £ 358 109 249 Kg |ERS 1,512 432 | E1E 1,782 432
113|RAV S 3 3l Keg [&) 755 700| £ 1,620 1,297
114|B5EFE 182 64 118| Kg |ERES 1,620 1,080\ RS - 8BE 2,970 1,404
15[ 1= Ke |EE 1,405 760

117[1E 18 18] Kg R 3,780

134[#= 152 100 52| Kg |=# 2,700 1,500 £/ 2,700 1,944
137|&5E3.< 159 100 59| Keg |EI 3,888 3,564| &R 7,131 3,564
138|#ik £ = 162 162| Kg I35 1,080 864
140(5 I 9 9 Kg e[AEs 54,000 21,600
147|822 0 71 71| Kg EIRE - g 8,640 4,500
158|EIEA A LS 413 220 193] Kg |BRES 1,296 432| =40 3,208 432
201{Lvb L 702 702|  Kg T - Hil 540 144
203|/hd L 96 96| Kg R 432 108
205|3.3 L 131 131| Kg K% 702 389
206| = 1F 320 320| Kg KI5 1,188 216
208| Mo % 61 61| Kg L 2,484 1,026
212|&5E.3 Y 1,027 1,027| Kg we - B 2,646 1,080
252|L0AEECH 85 83 2| Ke |#@ 3,348 =] 5,292
254|EhRECH 695 695| Kg =l 2,592 1,166
305\ KA OB 12 2 10 Kg |E&= 1,728 FfE 4,320 2,160
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315|7: B9 6 11 11| Kg = I 3,780 3,564
319|2h o 61 61| Kg ANER L 2,700 1,944
332|= 13 WA =EF 95 95 Kg 2P 2,268 2,160
3bl{HHV 10 5| Kg [3&E 3,240 i 16,200

35411FxE<Y 33 33 Kg =5 3,564 1,134
355(mp Y 125 125 Kg FH - P E 2,160 600
356(L L& 40 40| Kg SER 1,512 324
357|7RE 32 32 Kg FEE 2,160 189
362(H & 597 597| Kg e 1Ly 3,456 612
4025 5 &E 5 5 Kg A0 5,616
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A—wah 10 10| Kg 73 1,026
Jasy by (AN 30 30 Kg JtiF 1,450 1,300
RGBT AV 211 211| Kg 73 4,212 1,111
ARG EZV 32 32| Kg FA77 1,260 1,242
SE WA AR 10 10| Kg F 1,200
TRER 10 10| Kg JtF 972
BRI 45 45|  Kg 73 3,500 1,850
RS Y 775 775 Kg JiF 1,220
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70110 BA 1,124 24 1,100 Kg [&EE 4,150 FfE 3,402 216
705|7=2< ¥ 102 102 Kg LA 2,700 2,160
709(Wb L AT 24 241  Kg BRS 2,620
710|195 2 ®HA0F 68 68| Kg = I 756 632
713|L L» & HF 21 21 Kg bF 1,144
BlEFAI L 409 184 225 Kg |B1R 902 813|51R 929
54T AE 5 5 Keg EE 1,872
755(Fd L 11 11 Kg R 787
56| £ 9 32 32| Kg SR 1,188
7611 b BHAEL 12 12| Kg AR 2,520 2,314
801 =T 383 383 Kg ¥ - A 1,728 1,188
802|111 10 10 Kg blo ] 1,404
805 = 1E 1,347 1,347 Kg bF 1,145 736
810|BAKTF 531 531 Kg JbiF 3,240 1,080
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